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1. What is the approximate answer for (3482 + 85) =20

2. What is the approximate answer for (10 158 - 189 ) = 100

3. Work out approximate answers to the following sums by rounding to
the nearest thousand:

a. 73229+ 5280

Tens of thousands eh!

b. 47778+ 7777 Tricky stuff!

c. 51900+2199

d. 42366+ 7 839

e. 22818 +8348

. What is 59 201 to the nearest thousand?
. What is 76 170 to the nearest thousand?
. To the nearest thousand what is half of 70 499?
. To the nearest thousand what is double 22 199?

. Round 73 678 to the nearest 10.

o 0 N & o A

. Round 73 678 to the nearest 100.
10. Round 73 678 to the nearest 1 000.
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1.180 2.100 3a78000 b.56000 ¢.54000 d.50000 e.31000

4.59000 S5.76000 6.35000 7.44000 8.73680 9.73700 10.74 000




